400
253 ﬂ ﬂ 253
g0 L LL80
TOP VIEW
12— 71051
. —
ot CHIMNEY MTG.
= HOLES
—..
0 0 =
S
=
S
(D
|
O 21405 )
=
D
- PASS
: THROUGH
C>, SLOTS
|
¢
it
ot SPOOLING
) 0 [ﬁD REEL
ot
—C .
= |
R M
@4“54 233~ kzo4.7j —25
FROITJ_|T3VIEW RH SIDE VIEW

ALL DIMENSIONS EXTERNAL UNLESS NOTED OTHERWISE

REV. REVISION HISTORY DATE
0 | FIRST PRODUCTION RELEASE 2111112014
| |EDGE PROTECTION RUBBER ADDED & HINGE PLATE ADDED | 28/05/2015
2 |PDU KEYHOLES ADDED TO ITEM 3 CHANNEL | 11/02/2019

3N
TISOTISOT \L,,/
|
4 K3 S N
/4 N P
0 ol 18 TYp il /5
o . L/ (SRS
|8/
DETAIL B
: \ SPOOL MTG, AND /'\ -4 ™
PASS THRU g . | ., \
0 O | BRIDGE FIXING "/
HOLES \
. .
0 0 \
’ —
O ° o O P \ | /
. : . N
O AN | 0
| 200 76\
W \ ~ NE
“100*- / L]
/ DETAIL A . \g Y,
o U 0 Item Document No. Rev. Title Material | Qty.
- 1 (RS-2648 0 LOWER DUCT BLANKING PLATE 2
2 (RS-5914 1 COVER 45RU 400 WIDE FOR VERTICAL 1 < )
3 CRS-5915 1 CHANNEL 45RU 400 WIDE FOR VCM 15 MS 1
I CRS-6351 0 EDGE PROTECTION RUBBER PVC 6
0 o 5 | M6 X 10 SOCKET HD | -———- | M6 X 10 SOCKET HO C/SUNK SCREW MS-ZP 8 A
6 M6 X 12 PAN POZI M6 X 12 PAN POZI ZP Alumlnum, /A PICTORIAL VIEW
I I 7 SYC-001 3 SYCOP 2RU LONG FINGER CABLE ABS Plastic | 42 NTS
REAR VIEW 8 SYC-003-SUPPLIED 0 ZINC HINGE DUCT Zinc /A
TNTTIAL TOLERANGCES MATERIAL FINISH
TOLERANCES SET BY NUMBER OF
: o SEE BOM SEE PO
CRS DRAWN BY: R A
INITIAL 2 decimals-0.00 = +/- 0.15mm PROJECT
on CHECKED BY: Cﬁgi d0sdes o mension] U0 ALL OPEN PATCHING RACKS A3
COMPUTER ROOM SOLUTIONS
R G SHEET /l DF /l DRAWING NO. FILENAME:
AS100 © ] CRS-5913 o
ﬂN—EAHERN-DJS-[LMMER [THIS DRAWING AND ALL INFORMATION AND DESIGNS WITHIN ARE THE PROPERTY
45 NOVIRUAL AUFACTRERSTODLNG HAYVARY IELY I I THE MANFACTRERS RESP[JNSABILTYIUSFF[USBISD-DE:EWUSE'DUUFTTTHHEEU&;@ﬁgﬁ LG 4 WAL R T T VERTICAL CABLE MANAGER 45RU 400 WDE WITH | *=5 | %
T0 DETERMINE CORRECT FLAT SIZES OR WHETHER THE SUPPLIED FLAT DIMENSIONS ARE ACCURNTE  Jropvesirs eeserven. ' COVER & EXTENDED FINGERS ASSY




